flux

AP / 2.325

A? / 2.300

40

20

100

50

Fe2 + Continuum Fit
Opep 492 +/— 173 km/s
: : I . . .

o / 4585 = 2.325

i

Rest A (&)

Fe2 Scale Factor X2 Diagnosis

g, 143 km/s 0.0263(20) szin / 4585 = 2.325
L L L L L /2 L
rm377 RMS 6.11

MAD 4.91
P T T 1
0.015 0.02 0.025 0.03 0.035 0.04 0.045

Fe2 scale factor

Fe2 Velocity Dispersion X2 Diagnosis

Fe2 Dispersion (km/s)

gy 113 1693 prior 225 km/s —840(170) X, / 4585 = 2.325
T T T T | T T T I T T T T I T T T T I T
[ 377 RMS 19.2 ]
I MAD 14.4 |
I o ]
2000



